SC Text3 Parallelism1

Parallelism

1. and, but, or, parallelism

2. not only A but also B, not A but B, both A and B, A as well as B, either A or B, neither A nor B, etc
phrase A B

3. and, but, or

4. S=C parallelism
To see is to believe.
The way to do A is to do B.
Finding an answer to an SC question is like solving a puzzle.
A (An, The) aim (goal, intention, objective, purpose) of A is to do B.
Ving — is ~. — NG
5. A, B, aswellas C
. While A, B., Whereas A, B., As A, so B. A, B A, B
while doing —~ OK
AS rust eats iron, so care eats the heart.
7. A B
no(t) A,orB (A, B ) (style or )
Tim has no experience or interest in chemistry.
They are not rich or happy.
not A, nor B (A, B ) ( or )
Jane will not compromise with Bill, nor will Bill compromise with Jane.
8. A B C
no(t) A, or B, but C (A, B, C )
Tim has no experience or money but ideas about a new business.
not A, nor B, but C (A, B, C )
Tim loves Laila not because she is beautiful, nor because she is clever, but because she is good-natured.

(o))
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0119
To be Czech is being part of an ancient culture which boasts that it has the first written language in Central Europe and, at

the same time, to be an inhabitant of a land continually occupied by a foreign power.

A) being part of an ancient culture which boasts that it has
B) being part of an ancient culture and to boast

C) to be part of an ancient culture and boasting

D) to be part of an ancient culture boasting

E) to be part of that ancient culture which boasts that it has
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The growth of the railroads .c« «c «.c v o woows times, which was determined by when the sun reached the observer’s
meridian and differing from city to city, and to the establishment of regional times.

A) which was determined by when the sun reached the observer’s meridian and differing

B) which was determined by when the sun reached the observer’s meridian and which differed
C) which were determined by when the sun reached the observer’s meridian and differing

D) determined by when the sun reached the observer’s meridian and differed

E) determined by when the sun reached the observer’s meridian and differing
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There is a growing demand in the state for “initiative and referendum,” a procedure that allows voters to propose and pass
laws, as well as to repeal them.

A) allows voters to propose and pass laws, as well as to repeal them
B) allows voters to propose, pass, and to repeal laws

C) allows voters to propose, to pass, and repeal laws

D) will allow the voter to propose, pass, as well as to repeal laws

E) will allow laws to be proposed, passed, as well as repealed by voters
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Too old to bear arms himself, Frederick Douglass served as a recruiting agent, traveled through the North to exhort Black
men to join the Union army.

A) traveled through the North to exhort

B) and he traveled through the North and exhorted
C) and traveling through the North exhorted

D) traveling through the North and exhorted

E) traveling through the North and exhorting
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Minimum wage legislation has been controversial since its inception: its proponents argue that the people who are most
economically vulnerable are safequarded from being exploited, while other critics argue it leads to people being
unemployed.

A) the people who are most economically vulnerable are safeguarded from being exploited, while other critics argue it
leads to people being unemployed

B) the people safeguarded from being exploited are the most economically vulnerable, whereas the critics argue it leads to
people being unemployed

C) it is a safeguard so that the most economically vulnerable are not exploited, whereas the critics contend that it is a
cause of unemployment

D) it safeguards the most economically vulnerable from exploitation, while its critics contend that it is a cause of
unemployment

E) it has safeguarded the people who are most economically vulnerable from being exploited, while its critics contend that
it leads to people being unemployed
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A primary objective of the rivalry between great powers in southern Africa is the ability of access or of blocking access to
supplies of strategic metals, such as cobalt, that are important in formulas for producing high-performance steel.

A) the ability of access or of blocking access to supplies of strategic metals, such as cobalt, that are
B) the ability to access or block it to strategic metal supplies, such as cobalt,

C) the ability of either having or blocking access to strategic metals supplies, such as cobalt, that are
D) either access or blocking access to strategic metals supplies, such as cobalt,

E) either to have or to block access to supplies of strategic metals, such as cobalt, that are
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Button believes that the reason the riots of the 1960's were politically successful was because they occurred at a time when
public authorities, particularly the federal government, had the ability and resources to cope with grievances and because
of widespread sympathy for the civil rights movement.

A) reason the riots of the 1960's were politically successful was because they occurred at a time when

B) reason why the riots of the 1960's were politically successful was because they occurred at a time that
C) reason for the political success of the riots of the 1960's was they occurred at a time that

D) riots of the 1960's were politically successful because they occurred at a time when

E) riots of the 1960's were politically successful because of occurring when
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The department defines a private passenger vehicle as one reqgistered to an individual with a gross weight of less than 8,000
pounds.

A) as one registered to an individual with a gross weight of less than 8,000 pounds

B) to be one that is registered to an individual with a gross weight of less than 8,000 pounds

C) as one that is registered to an individual and that has a gross weight of less than 8,000 pounds
D) to have a gross weight less than 8,000 pounds and being registered to an individual

E) as having a gross weight of less than 8,000 pounds and registered to an individual
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A majority of the international journalists surveyed view nuclear power stations as unsafe at present but that they will, or
could, be made sufficiently safe in the future.

A) that they will, or could,

B) that they would, or could,

C) they will be or could

D) think that they will be or could

E) think the power stations would or could
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International loans that are extensive and in some cases exceeding the total equity of the lending bank have exposed them
to insolvency, since borrowers, hard-pressed by changes in interest rates and oil prices, have found repayment impossible.

A) International loans that are extensive and in some cases exceeding the total equity of the lending bank have exposed
them

B) International loans that are extensive in size and exceeding in some cases the total equity of the lending banks expose
the lenders

C) International loans, extensive in size and in some cases exceeding the total equity of the lending bank, expose them
D) Extensive international loans, exceeding in some cases the total equity of the lending banks, have exposed the lenders

E) Extensive international loans, in some cases exceeding the total equity of the lending bank, have exposed them
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Corporations have found a reasonably quick resolution of disputes, confidentiality, and dramatically reduced costs are the
advantages of setting differences privately by using mediators rather than the courts.

A) a reasonably quick resolution of disputes, confidentiality, and dramatically reduced costs

B) that a dramatic reduction of costs, confidentiality, and reasonably quick resolution of disputes
C) that dramatically reduced costs, confidentiality, and reasonably quick resolution of disputes
D) that confidentiality, dramatically reduced costs, and a reasonably quick resolution of disputes

E) dramatically reduced costs, confidentiality, and a reasonably quick resolution of disputes
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Just as more powerful telescopes are penetrating deeper into the secrets of space, so the new colliding-beam machines help
physicists to probe even more deep into the most basic natural phenomena.

A) help physicists to probe even more deep

B) help physicists in their probing even deeper

C) are helpful for physicists probing even deeper

D) are of help to physicists because they probe even more deeply

E) are helping physicists probe even more deeply
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Although it is the parent who is at fault in neglect and abuse cases, it is the children that are shipped off either to an
institution or turned into an orphan, and that is left to wander from one foster home to the next.

A) children that are shipped off either to an institution or turned into an orphan, and that is left to wander from one foster
home to the next

B) children that are either shipped off to an institution or turned into orphans and left to wander from one foster home to
the other

C) children who may be either shipped off to an institution or turned into orphans, and that are left to wander from one
foster home to the next

D) child who is either shipped off to an institution or turned into an orphan, left to wander from one foster home to another

E) child who may either be shipped off to an institution or turned into an orphan, left wandering from one foster home to
another
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Demographic studies show that Hispanics in the United States have established communities in every region and in most
large cities of the country but that they have been so selective that half of them live in only ten metropolitan areas.

A) that they have been so selective that half of them live in only

B) that they have been selective enough that half of them live in only
C) that they are selective enough so that half of them live in only

D) they are so selective that half of them live only in

E) they have been selective enough so that half of them live only in
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The author’s report on how the social class of buyers influences the success of marketing strategies contained no exact and
several imprecise and different definitions of social class.

A) contained no exact and several imprecise and different definitions of social class

B) contained no exact but varying imprecise and different definitions of social class

C) contained no exact definition but several imprecise and different characterizations of social class
D) failed to contain any exact definitions of social class, but varying imprecise and different ones

E) failed to defined social class in any exact way but used varying imprecise and different ones
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Laws prohibiting the sale of cigarettes to minors and proscribing smoking in theaters and other public places were enacted
as early as the 1890’s; the primary concern of the latter regulations, however, were not considerations of health but instead
they were for fire prevention.

A) were not considerations of health but instead they were for
B) were not considerations of health, but were instead

C) was not considerations of health, but instead for

D) was not considerations of health, rather it was for

E) was not considerations of health, but rather of
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A former director of the Central Intelligence Agency has said that the surveillance capabilities of United States satellites
would enable a skilled photographic interpreter to distinguish between Guernsey and Hereford cows grazing in a meadow.

A) between Guernsey and Hereford cows grazing

B) between Guernseys and Hereford cows that graze

C) among Guernseys and Hereford cows that are grazing
D) among Guernsey and Hereford cows as they graze

E) Guernseys from Hereford cows grazing
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In repoussé, a method of sculpture, workers lay copper sheets over wooden molds, and then, using a variety of exotic

hammers, carefully pounding the metal into shape.

A) In repoussé, a method of sculpture, workers lay copper sheets over wooden molds, and then, using a variety of exotic
hammers, carefully pounding the metal into shape.

B) Repoussé is a method of sculpture in which workers lay copper sheets over wooden molds and then, using a variety of
exotic hammers, carefully pound the metal into shape.

C) Repoussé workers, who do a method of sculpture by laying copper sheets over wooden molds, use a variety of exotic
hammers, and then pounding the metal into shape.

D) Workers who lay copper sheets over wooden molds use a variety of exotic hammers and carefully pound the metal into
shape in order to do repoussé, a method of sculpture

E) Laying copper sheets over wooden molds, and using a variety of exotic hammers in order to pound the metal into shape,
repousseé is a method of sculpture done by workers.
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The utility company has announced that it will permanently close its Unit | nuclear power plant, the first plant that had been
built by private industry and the model for a generation of modern nuclear reactors.

A) that had been built by private industry and
B) built by private industry and which was

C) to be built by private industry and which was
D) built by private industry and

E) to have been built by private industry and was
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The greater chance of developing stress-related heart disease belongs not to the dynamic executive, male or female, nor
the single mother, but the married woman who holds a full-time job while still performing most household tasks at home.

A) greater chance of developing stress-related heart disease belongs not to the dynamic executive, male or female, nor the
single mother,

B) greater chance of developing stress-related heart disease is not risked by the dynamic executive, male or female, or the
single mother,

C) one who most risks developing stress-related heart disease is not the dynamic executive, male or female, or the single
mother

D) one who risks the greater chance of developing stress-related heart disease is not the dynamic executive, male or
female, nor the single mother

E) one most risking the greater chance of developing stress-related heart disease is neither the dynamic executive, male
nor female, nor the single mother
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No economic model, capitalist or Marxist, takes into account the quantifiable measures of the social cost of unemployment;
these include increases in mortality in general, and infant deaths and cardiovascular deaths in particular, as well as higher
levels of imprisonment, homicides, and first admissions to mental hospitals.

A) as well as higher levels of imprisonment, homicides, and

B) as well as higher numbers of homicides, persons imprisoned, and
C) and higher homicide, imprisonment, and

D) and higher numbers of persons imprisoned, homicide, as well as

E) and higher levels of imprisonment, homicides, as well as
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Though the remains of some of the oldest hominid specimens have almost turned to stone as molecules of minerals have
saturated the bone, most are not mineralized, only partially are so.

A) only partially are so
B) only in part

C) only partially

D) or only in part

E) or are only partially so
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Recent excavations suggest that the ancient peoples of the Italian peninsula merged the cult of Damia—a goddess of
fertility and the harvest—with Venus.

A) with Venus

B) and Venus

C) with that of Venus

D) and Venus’

E) and Venus’ cult
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